17.28. {a) Use df = 26
i ,,,.},,f”és.:qw‘z,.‘ - 7
si@;:ﬁ@;@;éi—%ﬁ! = 111.2 10 118.6 mmm Hg.

Sy
{b)} The cssential assumption is that the 27 men tested can he regarded as ap SRS from a
thy white males in a stated age-group. The assumption that blood
MNormally distributed is nof essential because ¥ from a sample

avided the population is not 100 greafly

population, such a8 all hedl
pressure in his population 18
of size 27 will be roughly Normal in any event, pr
skewed and has no outliers.

17.32. SoLve: The mean is ¥ == 25,427 and the standard deviation TinLeryal .
< 7.47°, and r* is cither 2042 (using df = 30 from Table C) or £22, 9641 2,825
20262 (using 4f = 37 from software). The confidence interval is gizg,é?@?ﬁgﬁ?’%

§
nearly identical in both cases: |

s S} =72295% 10 27.89° (=204
I <«f3§) o 27.89° (1 2.042%, or

= 22.06° to 27.88° (1" = 2.0262).
CONCLUDE: We are 95% confident that the mean HAV angle among such patients is be-
tween 22.95° and 27897

change from day to day can affect spore connts, So the

day form a matched pair. {b) Take the differences,
these differences, ¥ == 1824.5 and
difference, the 90% confidence interval for

17.38. {(a) Weather conditions that
two measurements made on the same
kill room counts MINUS Processing Coumis. For

= §34.1 CFUs/m’. For the population mean
is

1874.5 £ 2.353 (%) = 1824.5 £+ 981.3 = 8432 to 2805.8 CFUs/m’.

e the sample is smalt (four days), but we are confident that mean

The interval is wide becans
nts, which are at best only

counts in the kill room are quite 2 bit higher, {¢) The data are con

approximately Normal. and we have only a small sample (n = 43,

18.36. (a) Based on the stemplots, the 1 procedures :
shoutd be safe. Both the stemplots and the means No odor :::) a1 f{)('; 4 ;29{
. ' ‘ ‘ - z VLD &, 5
suggest that customers stayed {very stightly) longer Lemon 28 BBUIBST 15 43?”:
when there was no odor. {b) Testing My puy = pp vs. - -
Ha: py = g, we find SE = 3.9927 and ¢ = 0.371. Ho odor pemon
This 1s not at all significant: P > 0.5 (df = 27 2 66)3
or P = {).7—123 (df == 35.4). We cannot conclude f;gg g %"
that mean time in the restadrant is different when the 965 | 7 5§
lemon odor is present. sl IR e
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15.40. Praw: WWe will give a 95% confidence interval for the propor-  [[~Prorgim
Son p of fepale Higpanic drivers in Boston who wear sent belis, é;%{%g%%%gég%%}
Sowve: We have o faidy large SRS from a much farger popula- o117 )
tlon, with coiaats 68 and 49, so both large-sample .ﬁﬁé Eﬁ four I-Proslint

T thp 1 ie o 1 = Do GEGEE
z;;;i‘mdg are safe. For the ;az'ga—s?am;u nterval: g}:w £ =0.5812, ;f%%%ggg%%é%’
15 = 0.04561, the margin of error is 1.96088; = 0. {}S?ﬁ} and re=i2i

the 83% confidencs interval is 0. s—‘;»}“ 3 o G670,
Using plus fouwr methods: § = ‘%"?’3‘;3’ = (L3783, 8By & 004485, the marzin of error iz

1.9608H; = 0.08798, and the 95% confidence interval s 0.4905 1o 0.6663.
{”*{33?%. LUDE: With either method, we are 95% confident that the proportion of fomale Hs-
panic drivers wWho wear seat bells is between about .49 and 6,67

19432, PLaN: Let p be the proportion of Hispanic female drivers whe wear seat belts.
Because the exercise asks if we are convinced that more than half wear seat belts, we will
test Fly: p = 0.5 vs. Fy p > 0.5; one might instead choose the two-sided aiternative
# L5,
QQL»E Large-sample inference procedures can be used: we view @&r sample a5 an SRS,
and the expected counts npg A ang a{l — pp) eve both 58.5. With £ = 0.58172, the test siatistic

is 7z = (0.5812 — 0. ﬁ};gi?—%%i & 1.76, The P-value is 0.0392 (from Table A) or 0.0395

{softwara}.

CloNcLUDE: We have pretiy strong evidence—sigoificant at @ = (.03, though not at

o = 0.01 —that 2 majority of Hgﬁ?@ﬂ%ﬁ female drivers in Boston wear seat belts. (IF we had
chasen a two-sided alternative, the Pevaloe would be twice as big, and the evidence would
not be significamt at a = 0.03}

16,44, SraTE: For estimating seat belt usage smong Hispanic females with 95% counfidence,
how large & sample is needed to reduce the margin of epror 1o 20,057

Pran: We seck n 5o that 27 v
snknown proportion p. o
SoLvE: We estimate p using the value of § found in the first ‘S’%ﬁ'ﬂgﬁﬁ Frep= iy =

7186 . s
0.5812. To achieve the desired margin of error, we need 7 = | 7 {}%} 20— p*y = 374G

ConcLung: A sample size of 7 = 379 Hispanic famale drivers will result in a margin of
error of approxirately +0.05 for estimating seat belt asage.

£ o R .. - .
M = (.05, where p* s our preliminary estimate of the
H



